



Determine which number correctly answers both equations.

1) _____ + 4 = 20
20 - 4 = _____

2) _____ + 2 = 9
9 - 2 = _____

3) _____ + 1 = 19
19 - 1 = _____

4) _____ + 5 = 16
16 - 5 = _____

5) _____ + 2 = 14
14 - 2 = _____

6) _____ + 2 = 19
19 - 2 = _____

7) _____ + 10 = 17
17 - 10 = _____

8) _____ + 3 = 16
16 - 3 = _____

9) _____ + 6 = 12
12 - 6 = _____

10) _____ + 2 = 17
17 - 2 = _____

11) _____ + 1 = 20
20 - 1 = _____

12) _____ + 8 = 18
18 - 8 = _____

13) _____ + 4 = 15
15 - 4 = _____

14) _____ + 4 = 18
18 - 4 = _____

15) _____ + 5 = 18
18 - 5 = _____

16) _____ + 3 = 18
18 - 3 = _____

17) _____ + 12 = 18
18 - 12 = _____

18) _____ + 1 = 12
12 - 1 = _____

19) _____ + 12 = 15
15 - 12 = _____

20) _____ + 1 = 7
7 - 1 = _____

Answers

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Determine which number correctly answers both equations.

1) $\underline{\quad} + 4 = 20$
 $20 - 4 = \underline{\quad}$

2) $\underline{\quad} + 2 = 9$
 $9 - 2 = \underline{\quad}$

3) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

4) $\underline{\quad} + 5 = 16$
 $16 - 5 = \underline{\quad}$

5) $\underline{\quad} + 2 = 14$
 $14 - 2 = \underline{\quad}$

6) $\underline{\quad} + 2 = 19$
 $19 - 2 = \underline{\quad}$

7) $\underline{\quad} + 10 = 17$
 $17 - 10 = \underline{\quad}$

8) $\underline{\quad} + 3 = 16$
 $16 - 3 = \underline{\quad}$

9) $\underline{\quad} + 6 = 12$
 $12 - 6 = \underline{\quad}$

10) $\underline{\quad} + 2 = 17$
 $17 - 2 = \underline{\quad}$

11) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

12) $\underline{\quad} + 8 = 18$
 $18 - 8 = \underline{\quad}$

13) $\underline{\quad} + 4 = 15$
 $15 - 4 = \underline{\quad}$

14) $\underline{\quad} + 4 = 18$
 $18 - 4 = \underline{\quad}$

15) $\underline{\quad} + 5 = 18$
 $18 - 5 = \underline{\quad}$

16) $\underline{\quad} + 3 = 18$
 $18 - 3 = \underline{\quad}$

17) $\underline{\quad} + 12 = 18$
 $18 - 12 = \underline{\quad}$

18) $\underline{\quad} + 1 = 12$
 $12 - 1 = \underline{\quad}$

19) $\underline{\quad} + 12 = 15$
 $15 - 12 = \underline{\quad}$

20) $\underline{\quad} + 1 = 7$
 $7 - 1 = \underline{\quad}$

Answers1. 162. 73. 184. 115. 126. 177. 78. 139. 610. 1511. 1912. 1013. 1114. 1415. 1316. 1517. 618. 1119. 320. 6